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SECOND YEAR HIGHER SECONDARY
MODEL EXAMINATION, FEBRUARY - 2024
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Part - |1 Time : 2 Hours
COMPUTER APPLICATION Cool-off time : |5 Minutes
(COMMERCE)

Maximum : 60 scores

/ General Instructions to Candidates : \
® Thereis a *Cool-off ttme’ of 15 minutes in addition to the writing time.

Use the *Cool-off time” to get familiar with questions and to plan your answers,
Read questions carefully before answering,

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Giive equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
EExamination Hall.
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Answer any 5 questions from 1 to 6. Each carries | score.

. Pick oat the Jump statement from the tollowing :

(while, continue. for. switch)

(-

In C++, the last character in a string is

- -_———

"J

Wnite an example for a Server side scnpting language.

- ___operator is used n JavaScript to add two strings.

N

Write example for a DDL command 1in SQL.

6 1s an open source ERP package.

(Oracle, Odoo, SAP, Tally ERP)

Answer any 9 questions from 7 to 18. Each carries 2 scores,

.

Consider the following array declaration statement:
int a[4.]= 12,3,4,5};

Give the output of the following :

(a) cout<<a[l];

(b) cout<<a[2]+a[3];

(9%x2=18)

(1)
(1)

& What is the difference between built-in function and user defined function in C++ ?

0. (a) Write full form of DNS.

(b) What is the port number of HTTP 7

246 :

(1)
(1)

2
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I aymmd 6 o1oo canngenglod ~goomlens 5 aapomila Dornosae,m)d,.
I opad aflae.. (5x1=35)

6 AlOWITNUTIB3 Tlam B (AIT00IM BIOONHDIS)N)D,

(while, continue, for, switch)

1+ @3 530) (TWloUilenT) mpaim0mo agyom character @6,

— - — —

OTUBNIB e TMniGloUl oMY BD) PAIADDEo af)¥)D))b:.

T 6220100943

e (o)A @)§1a B0l 120NVl Iglod
DU O],

SQL ee1 DDL é:a003ai1m 630) §AIan06Mo af)9)@)d:.

530) 32q {613 amy ERP a10caned aryern.

| —————

(Oracle, Odoo, SAP, Tally ERP)

7 aymad 18 0190 caaignglold agommlels 9 af)gnamim’ omoeAY)B))d:.
2 capad allow.. (9 x2 = 18)

int a[4]=12.3.4,5}. ag)am @RCO aIBlL6TIH9)D:.
gD Ma JOW)IMOAIDIHNS BDGal)g MBBD) |

(a) cout<<alll], , (1)

(b) cout<<a|2]+a[3]; (1)

C+t oel nl@dQ MM aboaliMl, WITVA AWIOHANMBAL aboliatMle MITIEIDA

Q@ OTVo af)aTDI6M ?
(a) DNS-00) an@smolalo af)@)m)d:. (1)
(b) HTTP @es candg maud agyomoen ? (1)
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10,

il

14,

1.

V7.

Write the use of following tags !

(a) <BR> (1)

(b)y <U> (1)

Write the names of any two Lists in HTML.

Write the names of any two built-in functions n JavaScript.

What 1s CMS? Give one example for CMS.

(a)  What s Responsive web design ? (1

(b) The companies that provide web hosting services are called ; (D

Write any four components of DBMS environment.

Write the symbols for the following operations of Relational Algebra :

) - SELECE (V2)
(b) PROJECT (%)
(¢) UNION ()
(d) INTERSECTION (2)

Write any two situations in which ALTER command 1s used in SQL.

Write short note on SMS.

0. ®06% al0@)aN SOUIMBINS PalG@IN0 nf)$)TND :

[ 1.

13.

4.

16.

17.

IS,

40

(a) <BR> (1)
(by <U=> (1)

HTML-@3 ago@®leno ame ellquiag)os ealo)dud af)9)@)d.

. JavaScript-@ ago®®leljo eee mi@dg-ad nfoUiaMBRBINS GalD)dUB nf) 9.

a)26m CMS ? CMS-M'830) §Ba006Mo M@0

()  agamosM HOaVCaMIMal aatemni avlaaauad ? (1)
(b) e caooqloy cavaIMENd M@IB)M  GMUTIDOS ag)amn’
aflglesmm). (1)

DBMS 6 agom@lenoe MOl 2LIS6nUd af)$)m)d:.

OleRlnuaN®  ERWIREUWHS OIla |0  (EIAUIBATRIMIBWBENER  allaMenyd
) PO :

(@) SELECT (%4)
(b) PROIJECT (*3)
(¢) UNION (%)
(d) INTERSECTION (Y2)

SQL-@ ALTER &2003al’ 9a10@oullon)m “fomBlee Q8 TU0a0ald\Rnud

) ).

AV oo aDAVIOMENAla] ©O} Na 101D @Na | ) $I®)d.
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Answer any 9 questions from 19 to 29. Each carries 3 scores. (9 X3 =27
(a)  What s nested loop ? (h |
(b)  Give one example of nested loop. 2) B
Constder the tollowmg C++ code :
20,
char name] 20]: 5
o) "name. ¢
cout<<name,
(8)  What will be the output 1f you input the stning “*Good moming” ? (b
(b} Justily your answer (2)
' ;‘* “.
(a) Deline modular programming (1) ; 21.
(b) CGive any two advantages of modular programming (2)

Woite the use of following built-in functions in C++ ;

4 , M Aser
o p
N ‘
"
L
: Pt ”

W R | | L
(a) aschgt() (1) 18
(b) absl() () /
(¢) strien() (1 R,

e

Write the names of any two associated tags of <TABLE> tag. Wnte their use also.

Write the names of tags for the following : 2
(a) To create a form. (1)
(by To make Textbox in form. (1)
(¢) To make a drop down hst in form. (1) ‘
. 25,
Write three ways to add JavaScript code to a webpage.
6 ST

19 a)®@d 29 a190 cansiemeios aRO®DIEe 9 af)SPOla) DOMOOHAYG))d.

3 aapod allo.. . (9 %3 =27)
(a)  OMARAW el ag)Tmaem (1)
(b)  emguaw ena Iy 8m) 32a00sMo MD3). (2)
DM jo@AD CH (1mP2IM@WB alGlwsnilon)d :

char name[20];

cin>>name,

cout<<name;
(a) dlemsud “Good moming” agam (mylot) MABBNWO@3 B3VGal)g af) OG0 7 (1)
(b) mlenges pomoe MPa,dona. (2)
(a)  e@2a)rIB cnsWalew) MBI 180 (1)
(b)  em@oav)end ernwoalullnn agammlell e w)EMEmUd Ma3d)d. (2)

C++ @3 D88 @069 al0@)an TUIB3Q DB aNoWaHM)NHBIOS PalCIN af)9)B))d:

(a) isdigit() (1)
(b) abs() (1)
(¢) strlen() (1)

<TABLE> souflod agomlele 0me” @rmsmimny SOM):d@)OS Cald)dhUd af)$)m)d:.
@ROIW)OS DalCWINOL n)F)®)cd.

gD Mla J0W)NAIOV] DBR SON)HBINS GalDd)hUB af)¥ID)D: :

(a) 8m) GaNdo TLYH1ONIM (1)
(b) cano2@d HSATY CENIdG DMRIGHIN3 (1)
(¢) eanodl@d B0) G(Woa] awmend gy Dmeoeaom (1)

630} Hasitaedlerios JavaScript ¢ Cal@H9M@IMIBH 3N UKD ag)9) ).

7 K. 1.0,



e P 96, (@) SELECT :
o, () The keyword used in SELECT command to eliminate duplicate records | % 4 ( ~Hm “"m(f&llﬁamomso%]o Daloouloo)m MlanIny
8 O 4 Wiaflesag 06D BA)BUB gDRIDMINN)IN). (1)
. ," S(— ™ ~ .
(hy  Write the names of any two column constraints in SQL. (2) 3 - (b) o3 "BOMDILI @6 column constraints Gal®)nud af) 9], (2)

- 27, anaes malwlaclon)m STUDENT agyan asenud aidluemilaa :

27 Consider the table STUDENT given below : 4 —
Ri) 20 ) - - — E Field Fype Description
K [:l..;_lfjwu1 Type % Description ¥ E rollno Integer Primary key
k °.. " V- ‘- |
rollno [nteger Primary key ¥ namece String 20 characters
S0 R —— by &
name String Lm characters 0 mark l'“LBCT' Not null
£ | b Ma (O@)aNA ‘
y o SQL query :
mark Integer Not null i LSS Rl B QL query ag)#)@)d;

' . (a) @odoes STUDENT agan esmilud quyagflosoas. (1)
Wnite SQL query for the following : e ) °¥

(b) STUDENT apm esmiigdlors af)go allunBievoeam@lo (n13BuBla lon) @M. (1)

(a) To create the above table STUDENT. (1)
' (¢) 600-m8 s mdoops alaPdmddEes odWBMMIdK  Caldlo
(b) To display all the details in table STUDENT. (1) ) ¢ . 1
| (13@UTla flosymailm. (1)
(¢) To display rollno and name of students having mark greater than 600. (1) 4
; -_. 28. ag)moem ERP ? ERP-@)200@] cImWwen|s aBOmBslelo @M TLICEGIND AflBidud
2% What is ERP ? Write any two related technologies of ERP. v )1,
1‘ y
ik | . . y
20, Write a short note on mobile operating system. Also write an example for mobile n 29, e20eeMITI §300/60Glow) milquoomaa)ola] 6B0) a0l  >)0la]  AfID]D.
operating system. ¢ B ON0HHENITI eogcog%m’crﬁggmm\m 80) PRIANDEMo af)¥)®)cd.
N K o0 Ga1031emalad ago®mBeNe 2 af) I HOHONP LD ).
Answer any 2 questions from 30 to 32. Each carries 5 scores. (2%x5=10) ;. g 30 ayma@d 32 B el
A . N (2 p_ 4 5 - 10)
(& for et o (1) G 4 5 capad allmo.
30. (a)  Write an example for entry contro 0op. | .
v , 30, (a) apE @ pl;«}\jlmgm 630) £BIaNVMo nf) P ). (1)
o : ator in C++. 1 : j
(b)  Write an example of ternary operator in C (1) | 3 (b)  Ci+ - @B @AMl ) a0QAeT] B0} RBIAOVAMO af) £} (1)
(¢) Write a C++ program to input three integer numbers and to display their sum, 3) " : ©) oy apBamoalyd B DBass OAIGIMY ARAUWOS S (I Bl losamys A
. OOR 30) C++ Qo (o a{)¥) ). (3)
31, (a) Compare Static and Dynamic web pages. 3 3 i g BB TOODDLo MalQld> (3)
‘ 31, (a)  quogie, HOAMOTI HAUEN GalEl) 3 Q. 3
. . 3 N »
(b) Write HTML code segment to display x* + y*. (2) | i Lt TR e
| ; (b) x+y an@uzﬂ«kpmaaﬂ HTML ¢&o00 eau a3 nf)$) ™) )
' 246 8 : K 9 P.1.0.
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32.

(a)
(D)

()
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What 1s Data independence

Which are different levels of Data independence ?

Identity Prmary Key, Degree and Cardin
= by do2h e

Course

— -— - - — — -~ — S

al ity ot the following table

_n'\lv:;rks

..... r
Regno

— — — &

Name

Sachin

e — L — -

T — i —

Science

- R, @l W — —

102

i Wy
| Joseph Commerce __Regno

L.
l

l Science

103 & Fathima

p———— - —— .y

o) NS avag snadavidaladavadoy’?

Name

- ————— ——

Sachin

A ——

loseph

e —— e — ————— — -

aLaQa gpadatlaaimdavmdmilang alalw eesnyd AROMIDOWONT

Mo oM  algl@aes aaniacl @, adlgd, @odadlmoelgl apanial
af) LMD |

Marks

——— /-'.—-AW

—— . . D .

Fathima

Science

.~ - -

— — — —

_“(‘ourse lark:
: Science _48({
Commerce | 375

350

Result

—

Pass
B

Pass

— -y -

%

u|

1
|

Pass






